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A 12 16 16 - -
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N 15 12 15 16 16
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84 88
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Time : 2 Hours] [Max. Marks : 50

Instructions : (1) Figures to the right indicate the full marks of that question.
(2) Use of simple calculator is allowed.

Section — A

Answer the following questions : (any two)
1. (A) State the probability density function of t-distribution. Give its properties and
uses. 20
(B) Two horses P and Q were tested for running a particular track. The time taken by
them are given below :
Horse: P | 28 | 31 | 26 | 27 | 23 | 38 | 37
Horse:Q | 37 | 42 | 34 | 37 | 35

10 degrees of freedom t, \s = 1.812]

| 11 degrees of freedom t, ;s = 1.796 |
Can it be concluded that Horse P is faster than Horse Q ?

2. (A) Define Chi-square test and give its uses and limitations. 20
(B) Fit a Poisson distribution and test the goodness of it.

Number of Mistakes 0 1 2 3 4

Number of Pages 109 65 | 22 | 3 1
2 _ —0.61 —
[Xo.os 3.84] [e 0.5434]
3. (A) Explain the technique of two-way analysis of variance. 20

(B) Prepare one-way ANOVA table for the following and give your comment.

City Price
A 12 16 16 - -
R 15 4 14 15 -
I 17 16 15 14 -
N 15 12 15 16 16
Use coding method subtracting 15 from each data value.
[Fo 05 3, 12) = 3.49]

JA-114 3 P.T.O.



4. (A) With reference to non-parametric test, explain Wilcoxen test.

(B) Verify that the following two samples are drawn from same population or not, use

Mann-Whitney U-test.

Sample -1 | Sample — IT

73 70
75 78
83 79
77 81
72 65
69 63
56 74
80 83
68 67
60 76
84 88
61 48
64

71

86

Section — B

5. Answer the following questions : (any five)
Who had found t-distribution and when ?
Define degree of freedom.

@)
(i)
(iii)
(iv)
)
(vi)
(vii)

(viii) State the formula for variance of sign test.

In chi-square test (2 x 3) contingency table, degree of freedom is .

If the calculated value of y2 is
hypothesis is to be accepted.

the tabulated value of %2 the null

State the formula of %2 for 2 x 2 contingency table.

State two assumptions of analysis of variance.

If £(x, —%,)* = 120, n, = 10, £(x, — X,)? = 144, n, = 12, then find F.

(ix) Give two important differences between parametric and non-parametric tests.
In Mann-Whitney U-test,

)
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